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Example Candidate Responses — Paper 1

Introduction

The main aim of this booklet is to exemplify standards for those teaching Cambridge IGCSE™ Urdu as a Second
Language 0539, and to show how different levels of candidates’ performance (high, middle and low) relate to the
subject’s curriculum and assessment objectives.

In this booklet, candidate responses have been chosen from the June 2021 series to exemplify a range of answers.

For each question, the response is annotated with a clear explanation of where and why marks were awarded or
omitted. This is followed by examiner comments on how the answer could have been improved. In this way, it is
possible for you to understand what candidates have done to gain their marks and what they could do to improve their
answers. There is also a list of common mistakes candidates made in their answers for each question.

This document provides illustrative examples of candidate work with examiner commentary. These help teachers to
assess the standard required to achieve marks beyond the guidance of the mark scheme. Some question types where
the answer is clear from the mark scheme, such as short answers and multiple choice, have therefore been omitted.
Please also refer to the June 2021 Examiner Report for further detail and guidance.

The questions and mark schemes used here are available to download from the School Support Hub. These files are:

0539 June 2021 Question Paper 1

0539 June 2021 Mark Scheme 1

Past exam resources and other teaching and learning resources are available on the School Support Hub:

www.cambridgeinternational.org/support



http://www.cambridgeinternational.org/support
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How to use this booklet

This booklet goes through the paper one question at a time, showing you the high-, middle- and low-level response for
each question. The candidate answers are set in a table. In the left-hand column are the candidate answers, and in
the right-hand column are the examiner comments.

Example Candidate Response — middle, continued Examiner comments
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Examiner comments are
alongside the answers. These
explain where and why marks
were awarded. This helps you

to interpret the standard of
Cambridge exams so you can

help your learners to refine their
exam technique.

How the candidate could have improved their answer  \_ J

Answers are by real candidates in exam
conditions. These show you the types of answers for
each level. Discuss and analyse the answers with your
learners in the classroom to improve their skills.

» For Question 1, the candidate should have added an item of vocabulary ‘mountainous’.
* In Question 5, the candidate should have added an item of vocabulary ‘oil’.

* In Question 6, only one correct detail was given, and the second point about strengthening the immune system
was missing. The candidate should have kept in mind the two required details mentioned in the question.

* The candidate could have inferred the meanings through reading skills such as decoding, skimming and scanning
the texts/paragraphs. Therefore, the reinforcement of re
performance of this candidate. This section explains how the candidate could

have improved each answer. This helps you to
interpret the standard of Cambridge exams and
helps your learners to refine their exam technique.

Common mistakes candidates made in this question

* Not all candidates were able to identify the exact details, e.g. income in Question 2 and monsoon in Question 3
from the text. In some cases, the candidates did not provide the complete answer by missing the specific required
word, for example the word ‘mountainous’ in Question 1 and ‘oil’ in Question 5.

* In Questions 5 and 6, some candidates provided only partial or irrelevant details in their answers, rather than
focussing on the required details mentioned in the quest

Lists the common mistakes candidates made

Often candidates were not in answering each question. This will help your
awarded marks because they misread or learners to avoid these mistakes and give them the
misinterpreted the questions. best chance of achieving the available marks.




Example Candidate Responses — Paper 1

Exercise 1 Questions 1-6

Example Candidate Response — high Examiner comments
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Example Candidate Response — high, continued Examiner comments
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0 The cold mountainous areas is
the correct answer.
Mark for Q1 = 1 out of 1

e The dependency on income is
the correct answer.
Mark for Q2 = 1 out of 1

e The monsoon is the correct
answer.
Mark for Q3 = 1 out of 1

o Rich in nutrition is the correct
answer.
Mark for Q4 = 1 out of 1

e The candidate only gives one
correct answer. The other given
answer is not valid. The other
answer required for the mark is that
the oil is good for skin/hair.

Mark for Q5 = 1 out of 2

e Reduction in cancer and
strengthening the immune system
are accepted as the correct
answers.

Mark for Q6 = 2 out of 2

Total mark awarded =
7 out of 8

How the candidate could have improved their answer

Nearly all parts were answered by showing good skimming and gist-reading skills apart from Question 5 in which only
one detail was given. The candidate should have kept in mind the two required details (advantages) mentioned in the
question.
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Example Candidate Response — middle Examiner comments
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Example Candidate Response — middle, continued Examiner comments
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How the candidate could have improved their answer

» For Question 1, the candidate should have added an item of vocabulary ‘mountainous’.
* In Question 5, the candidate should have added an item of vocabulary ‘oil’.

* In Question 6, only one correct detail was given, and the second point about strengthening the immune system
was missing. The candidate should have kept in mind the two required details mentioned in the question.

+ The candidate could have inferred the meanings through reading skills such as decoding, skimming and
scanning the texts/paragraphs. Therefore, the reinforcement of reading strategies would be helpful to improve the
performance of this candidate.
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Example Candidate Response — low
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Example Candidate Response — low, continued
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Examiner comments

0 The candidate gives cold
mountainous areas which is the
right answer.

Mark for Q1 = 1 out of 1

e The candidate misses the
required word ‘income’ in this
answer, so no mark is awarded.
Mark for Q2 = 0 out of 1

0 The candidate incorrectly
answers the question. The answer
should be monsoon instead of
winter.

Mark for Q3 = 0 out of 1

o The candidate gives nutrition
as the right answer and is awarded
a mark.

Mark for Q4 = 1 out of 1

e The candidate’s answer does
not communicate any required
details and cannot be awarded any
marks.

Mark for Q5 = 0 out of 2

0 The candidate gives only

one of the two required answers
(reduction in cancer). Strengthening
the immune system is missing from
the response, so only one mark is
awarded.

Mark for Q6 = 1 out of 2

Total mark awarded =
3 out of 8

1
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How the candidate could have improved their answer

« This particular candidate was able to identify some straightforward details from the text in Questions 1, 4 and
partially in Question 6. The candidate could not work out the correct details for Question 5 and only provided one
detail for Question 6 and missed the other detail about the immune system.

* The candidate should have paid more attention to each paragraph in order to understand the questions.

» The candidate could have inferred the meanings through reading skills such as decoding, skimming and
scanning the texts/paragraphs. Therefore, the reinforcement of reading strategies would be helpful to improve the
performance of such candidates.

Common mistakes candidates made in Exercise 1

* Not all candidates were able to identify the exact details from the text, e.g. income in Question 2 and monsoon in
Question 3. In some cases, the candidates did not provide the complete answer by missing the specific required
word, for example the word ‘mountainous’ in Question 1 and ‘oil’ in Question 5.

* In Questions 5 and 6, some candidates provided only partial or irrelevant details in their answers, rather than
focussing on the required details mentioned in the questions.

12
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Exercise 2 Questions 7-15

Example Candidate Response — high Examiner comments
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Example Candidate Response — high, continued Examiner comments
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Example Candidate Response — high, continued Examiner comments

157 A Uiy

u.’f‘g’uf’@ uli?/,:(A—D).Jffl/;,.w -%W%“'/j f(15b'7)u}‘7£4“.)é
’ -q-‘ff(fu,l:.w&:

------ S iz

L Ll 2y U Sy e PO R

Alv] 5[] e[ ] o[ ]
-'JL"ZM/?E:%%)U?UQJ&{/?!J_,W 7 Mark for Q7 = 1 out of 1
1] Al ] B[ ] c[ | p[]
_o;/ufufngi’&gmﬂd;/ﬁfw»(ﬁ({éﬂ 8 Mark for Q8 = 1 out of 1
1) A A 5[ ] ¢ ] o[ ]
oA N U Ede 6P 0 ancor 9 = 1 out of 1
%) Al ] B[] c[] p[ ]
_j@,ﬁugwgL{.M;J”,?qugwgv,,dz}, w0 | Markfor Q10 = 1 out of 1
[1] Al ] B[ | ¢ [ o[ |
-4&;%4:&:(1/@456}36%4 1 Mark for Q11 = 1 out of 1

g Y I B ] V4
-Lﬁufuvw}fdz/{/’ el Lord Lo 12

(1 al] B[] c[] o[ |
-Jﬁ@j%[&”/d(gﬁ))erJgégwA 13

[1 al] B[] % o[ ]

FOTH IS G A e
c For Q14, the answer does not
1 A B[ | c[ ] o[ | match with the relevant text. The

correct answer is D.

Mark for Q12 = 1 out of 1

Mark for Q13 = 1 out of 1

e Lndien NP6 AEH 5| Markfor Q15 = 1 out of 1

1 Al B[] e[ ] [ ] Total mark awarded =

19:] 8 outof 9

15



Example Candidate Responses — Paper 1

How the candidate could have improved their answer

+ The candidate answered nearly all the questions (apart from Question 14) by correctly matching with the relevant
paragraphs in this multiple-matching task. Here, the distracter in Paragraph A is selected instead of D.

* The candidate should have paid more attention to the question in relation to Paragraph D where ‘understanding of
English’ is mentioned.

16
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Example Candidate Response — middle Examiner comments
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Example Candidate Response — middle, continued Examiner comments
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Example Candidate Responses — Paper 1

Example Candidate Response — middle, continued Examiner comments

157 & Iy

u"J’u'@uU/(A—D)-..Jl/l/u‘l-J"’/c../f/msb‘?)u}"ZL;éA
~$-JJUL"—'L~

PRI Y-S0V )
L& L by S A e FT U JFJe
A B[ | c[] o[ ]

-5V2M446?:ui‘usidzﬁ'¢:t“«' 7| Mark for Q7 = 1 out of 1

] al ] s | ¢ ] b [
-fﬂu%;uf&z/;légd{ﬁfwﬁ)fufﬁw’ 8

mo A/l 5[] c[] o]

| R O T Ny
1 A M B[ ] c[ ] o[ ] 0 0 The answer does not match

with the relevant text. The right

Mark for Q8 = 1 out of 1

answer is B.

-u’}@rﬁufgjg£gw4d/dw4&d/@%:uf.,«)!dz/‘{/l 10 | Mark for Q9 = 0 out of 1

M] ' Al ] B[ ] c[ ] D Be e The answer does not match

with the relevant text. The right
answer is B.

LUk e/, 6360 1| Mark for Q10 = 0 out of 1

i ' Al ] B c[ ] o[ ] ® @) The answer does not match

with the relevant text. The right
answer is D.
Mark for Q11 = 0 out of 1

y al ] 8 [/ c ] o[ ] Mark for Q12 = 1 out of 1
-Jn.:«j&;df&”/ulgﬂ»ufz—/gﬁgw/, 13
[1] Al ] B | c[/ [ ]

-féfuﬁ’ﬁf““u:”é‘wﬁfw 14
1] N A ] B[ ] c[ ] p[V]

BT 2l Lo d L 12

Mark for Q13 = 1 out of 1

Mark for Q14 = 1 out of 1

W . 5 ; L ° The candidate selects the
~&- N J P et fb A F e §A A S 15 wrong text and gives the answer as
D instead of A.

(1 al] B[ ] c[ ] o /1@ | Mark for Q15 = 0 out of 1
©:

Total mark awarded =
S5outof 9
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Example Candidate Responses — Paper 1

How the candidate could have improved their answer

The candidate has answered most of the questions by correctly matching with the relevant paragraphs. In
Questions 9, 10, 11 and 15, the wrong paragraphs were selected for the answers, so no marks were awarded.
The candidate should have paid proper attention to the question’s requirement and then looked for the correct
statements in the paragraphs.

The candidate could have inferred the meanings through reading skills such as decoding, searching, selecting,
skimming, matching and scanning the texts/paragraphs. Therefore, the reinforcement of reading strategies would
be helpful in order to improve the performance of the candidate.
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Example Candidate Response — low
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Example Candidate Responses — Paper 1

Example Candidate Response — low, continued
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Example Candidate Responses — Paper 1

Example Candidate Response — low, continued
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Examiner comments

o The answer does not match
with the relevant text. The correct
answer is D.

Mark for Q7 = 0 out of 1

o The answer does not match
with the relevant text. The correct
answer is A.

Mark for Q8 = 0 out of 1

0 The answer does not match
with the relevant text. The correct
answer is B.

Mark for Q9 = 0 out of 1

o The candidate answers
correctly.
Mark for Q10 = 1 out of 1

e The answer does not match
with the relevant text. The correct
answer is D.

Mark for Q11 = 0 out of 1

e The candidate gives the correct
answer.
Mark for Q12 = 1 out of 1

o The answer does not match
with the relevant text. The correct
answer is C.

Mark for Q13 = 0 out of 1

e The answer does not match
with the relevant text. The correct
answer is D.

Mark for Q14 = 0 out of 1

e The answer does not match
with the relevant text. The correct
answer is A.

Mark for Q15 = 0 out of 1

Total mark awarded =
2 out of 9
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Example Candidate Responses — Paper 1

How the candidate could have improved their answer

The answers for 7 of the 9 questions do not match with the relevant texts. The candidate could have improved the
answers by reading the paragraph thoroughly instead of guessing.

The candidate could have inferred the meanings through reading skills such as decoding, searching, selecting,
skimming, matching and scanning the texts/paragraphs. Therefore, the reinforcement of reading strategies would
be helpful in order to improve the performance of such candidates.

The candidate should have paid proper attention to the question’s requirement and then looked for the right
statements in paragraphs.

Some candidates underlined the particular information asked in the question before matching it with the relevant
paragraph, which could be a very helpful tip.

Common mistakes candidates made in Exercise 2

Since the answer format for this reading exercise is non-verbal, some candidates might have been relying on
guesses or rushed answers.

The candidates did not always read the texts properly to scan the required information in order to match the
question requirement.

Some candidates became confused with the detractors, e.g. Paragraph A and Paragraph D.
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Exercise 3 Questions 16-19

Example Candidate Response — high Examiner comments
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Example Candidate Response - high, continued Examiner comments
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Example Candidate Responses — Paper 1

Example Candidate Response — high, continued Examiner comments

16-16 & Uiy
/l/u”:’/’;JLUI’/J»:/M/m/IU)‘#ZLJ/Cr’féu&

both required details of daily

‘ / ) >
.......................................................................... .«/’, "fa.%’_..‘-_/_.oy . a “ The candidate correctly gives

dosage.

el L LS JM L oty 17 Mark for Q16 = 2 out of 2
-f"——b'—-"“' l/()/"é‘/"‘:()*/)’} ﬂ '-ﬁ /1 'r‘/ i o The candidate correctly gives
et . l., [é, L_,, all three required details of the ill

effects of using too much salt.

{3]%? 4 ‘“/' ’JJ d"ﬂ*'—""[ “"/"0»’//@1” * Mark for Q17 = 3 out of 3

T d/b” = Jie {‘C A 18 o The candidate gives only

one correct social advantage of
using less salt; the other provided
advantage is saving money instead
of saving lives which is not the right
answer.

Mark for Q18 = 1 out of 2

o The candidate correctly
provides both required details of
using the herbs for physical benefit.
Mark for Q19 = 2 out of 2

9:J] Total mark awarded =
8 out of 9

How the candidate could have improved their answer

The candidate has managed extremely well to make brief notes under supplied headings by identifying/selecting
correct details from the text. In Question 18, the candidate could have picked up the other correct detail about social
issues by distinguishing between economic and social factors (saving money instead of saving lives). A thorough
understanding is required when handling this type of question in order to differentiate the wording of the question
requirement.
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Example Candidate Response — middle Examiner comments
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Example Candidate Response — middle, continued Examiner comments
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Example Candidate Responses — Paper 1

Example Candidate Response — middle, continued Examiner comments

19-16 7 i
S eE Ly s o Sonf ol L syl L0

. A8 J._«C’ ;U}/i L Usz uﬁ 16
a This is an invalid response.
W e (-54:1 /5! l)9l & 13 4.5_447” L.t RO ny(‘) a The candidate gives irrelevant

details instead of providing the daily

[ - {«(ﬁjgf/ ZCf'ﬁ’ﬁ‘-'r/"//' f‘u" C{A‘} 9[0 dosage of salt.

v bl zi.)_/dlfri.ﬁ’uw @ Mark for Q16 = 0 out of 2

U@ _______ &;}; 9[, J/JO . @ The candidate gives two out

of three details about the ill effects

U'z_,_é'(}’ wk(}”j}'éueo/f/sl é(’ Szl u)&, €7 e of salt. The point about damage to
'''''' Z/d.lw( HJMZ%& 25 Yo ils d'/Uﬁ*‘g‘-"ly éln;. immune system / friendly bacteria is

missing.
L,,w/[,,;dw{évg. Mark for Q17 = 2 out of 3

oS L‘ ATl . 6 The candidate provides only
.............. dﬂb&;d{/)) U"”/‘dd;ﬁj g:l(/ Sudd e one correct social advantage of
2] J&gdﬂ/’/ U”jﬁl"//"f U using less salt; the other provided

advantage is saving money instead
(’dw L "/"JL’M[ s ¥z J;U("C/ 1 of saving lives which is not the

e gl o i e £dhog | o are 1ot
\Q\ ............................ U;/.;.j:f&f&/ﬂa!d/fﬁ o

° The candidate provides both
required physical benefits of using
=3 the herbs.

Mark for Q19 = 2 out of 2

9]

Total mark awarded =
S5outof9

How the candidate could have improved their answer

» This candidate has provided some correct notes under three headings which shows fair understanding of
comprehension of the text.

* In Question 16, the detail of exact daily dosage of salt to adults and children should have been provided.

* In Question 17, the answer could have been improved by providing the third detail about damage to the immune
system and friendly bacteria.

* In Question 18, the candidate could have picked up the other correct detail about social issues by distinguishing
between economic and social factors (saving money instead of saving lives). A thorough understanding is required
when handling this type of question in order to differentiate the wording of the question requirement.

+ The candidate should have paid more attention to the text paragraph by paragraph to better understand the
questions during the selection of points for each heading.

» The candidate could have inferred the meanings through reading skills such as note-taking, skimming and
scanning the texts/paragraphs. Therefore, the reinforcement of reading strategies would be helpful in order to
improve the performance of this candidate.
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Example Candidate Response — low Examiner comments
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Example Candidate Response — low, continued
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Example Candidate Response — low, continued
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Examiner comments

0 This is not a valid answer and
no marks can be awarded.
Mark for Q16 = 0 out of 2

o The candidate gives answers
from one category of ilinesses only
which earns 1 mark. The two ill
effects about brain and immune
system / friendly bacteria are not
given here.

Mark for Q17 = 1 out of 3

0 The candidate’s answer does
not match with the relevant text.
The correct answer is B.

Mark for Q18 = 0 out of 2

° The candidate answers
correctly.
Mark for Q19 = 2 out of 2

Total mark awarded =
3outof9
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How the candidate could have improved their answer

This candidate has provided the minimum straightforward details only from two headings which shows very little
comprehension of the text. Only one detail in Question 17 and two in Question 19 are correct. The candidate
should have paid more attention to the text paragraph by paragraph to better understand the questions during the
selection of points for each heading.

Instead of leaving Question 18 blank, the candidate could have attempted some response.

The candidate could have inferred the meanings through reading skills such as note-taking, skimming and
scanning the texts/paragraphs. Therefore, the reinforcement of reading strategies would be helpful in order to
improve the performance of such candidates.

Common mistakes candidates made in Exercise 3

Most of the candidates did not pay proper attention to what was being asked by the questions, and a thorough
scanning of the text was not done to find the correct answers.

Some candidates lost marks by providing irrelevant/incomplete details (Question 16) or not attempting to answer
them (Question 18).

In Question 17, candidates could not gain full marks as the answers were given from one or two categories only.

Question 18 was not handled well by all candidates, as many picked up the incorrect detail about social issues by
not distinguishing between economic and social factors and mentioning saving money instead of saving lives.
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Exercise 4 Question 20

Example Candidate Response — high Examiner comments
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0 The candidate covers both
aspects of the summary headings
by providing the details of:

(i) The effects of too much use of
salt, such as the increased pressure
on the heart and risk of dementia.
(ii) Precautionary steps: using
fresh fruit and vegetables instead
of canned food and using herbs to
enhance the taste instead of salt.
Mark for Content = 4 out of 4

e The candidate writes the
summary in their own words by
organising the points cohesively,
keeping to the word limit and
avoiding irrelevant content. The
language is well structured, and
the candidate uses good control of
punctuation and spelling, apart from
a few incorrect auxiliary verbs, (e.qg.
is instead of are).

Mark for Language = 5 out of 6

Total mark awarded =
9 out of 10

How the candidate could have improved their answer

» In the summary content, the candidate has identified four clear points, two each from the text, for both required
aspects of the use of salt by providing a concise summary and gained full marks.

» The candidate could have gained full marks in language by paying more attention to verb endings, for example, if

the subject is plural, the auxiliary verb should be also plural.

* Awide range of vocabulary and grammatical structures would also have helped the candidate to reach the top

band.

35




Example Candidate Responses — Paper 1

Example Candidate Response — middle Examiner comments
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0 The candidate covers only one
aspect of the summary headings
by providing the correct detail of
the effects of too much use of salt,
for example, a heart attack and
reduction of blood flow to the brain.
The candidate does not provide
the exact details for precautionary
measures and instead provides the
benefits of using less salt.

Mark for Content = 2 out of 4

o The candidate makes a
reasonable attempt to organise
the points and use their own
words. A, mostly accurate, range
of vocabulary and grammatical
structures is used. There is some
irrelevant text in the last part of the
summary.

Mark for Language = 4 out of 6

Total mark awarded =
6 out of 10

How the candidate could have improved their answer

* The candidate has mentioned two correct points from one aspect of the summary. The summary points should
have been given from both required aspects such as effects of using too much salt on health and the suggested

precautionary measures of using less salt.

» The candidate could have used some relevant notes written under Exercise 4 Question headings.
» The language marks could have been improved by writing the summary in the candidate’s own words and avoiding

irrelevant content.

* Agood range of vocabulary and grammatical structures would also have helped the candidate to reach a higher

band.
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Examiner comments

0 The candidate mentions only
one correct point (the increased
pressure on the heart) from the
first aspect the summary headings.
The candidate does not provide
the exact details for precautionary
measures and provides the benefits
of using less salt instead. The point
mentioned about using the herbs
instead of salt does not provide the
complete detail as the word taste is
missing.

Mark for Content = 1 out of 4

o The candidate makes
satisfactory use of language,
although some inaccuracies occur
in language structures and spelling.
The candidate uses some irrelevant
text.

Mark for Language = 3 out of 6

Total mark awarded =
4 out of 10
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How the candidate could have improved their answer

The candidate has mentioned only one correct point from one aspect of the summary. The summary points
should have been given from both required aspects such as the effects of using too much salt on health and the
suggested precautionary measures to reduce salt in a diet. The candidate could have improved the answer by
eliciting the specific detail, e.g. use of herbs to enhance taste for precautionary measures and focussing on the
question requirement. The candidate could have made more of an effort to identify the main points in the text as
specified in the headings.

The language marks could have been improved by the candidate writing the summary in their own words, copying
the wording carefully and by avoiding irrelevant content.

More accurate spellings, a good range of vocabulary and grammatical structures would also have helped the
candidate reach a higher band.

Common mistakes candidates made in Exercise 4

Some candidates made mistakes by not paying proper attention to the summary’s two main aspects of salt in the
question. The summary points from two aspects such as the effects of using too much salt on our health and what
steps can be taken to reduce the intake of salt were not equally addressed by some candidates. A small minority
gained 1 or 2 marks as they just copied the irrelevant text.

Many candidates did not provide the specific details such as missing out on the adjectival phrase enhancing the
taste while mentioning the herbs.

If the word limit is not kept, candidates can lose marks as the additional content is not considered when awarding
the content marks.

Some candidates did not pay proper attention when copying the content from the text which resulted in spelling
errors.

The candidates should have kept in mind that if they rely heavily on copying the text for their summary, it is unlikely
to achieve full marks in language.

In addition to the previous point, the accuracy in spellings and correct use of a wide range of vocabulary and
grammatical structures determine the top band marks.
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Exercise 5 Question 21

Example Candidate Response — high Examiner comments
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0 The candidate gives a narrative
of events accurately by including
the three mandatory short prompts
(bullet points) provided in the
question.

Mark for Content = 3 out of 3

o The candidate responds well

to a written stimulus by using the
appropriate register and style/format
for email. The candidate also uses

a range of grammatical structures,
punctuation and vocabulary mostly
accurately, but does not organise
the content in well-constructed
paragraphs.

Mark for Language = 4 out of 5

Total mark awarded =
7 out of 8

How the candidate could have improved their answer

» Although the candidate has addressed three mandatory points, the fictional prose could have been made more

appealing by adding some more details.

+ The candidate has responded well to a written stimulus by using appropriate register and style for the audience
in and has used a range of grammatical structures, punctuation and vocabulary, but could have organised the
narrative into coherent paragraphs and used a range of linking devices to be awarded top band marks.
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0 The candidate gives a narrative
of events accurately by including
only two out of three mandatory
short prompts / bullet points
provided in the question. The third
point about learning a lesson from
that experience is not addressed
here.

Mark for Content = 2 out of 3

o The candidate responds well
to a written stimulus by using
appropriate register and style for
email. The candidate uses a range
of simple grammatical structures,
punctuation and vocabulary with
some degree of control. There is no
attempt to organise the writing in
paragraphs.

Mark for Language = 3 out of 5

Total mark awarded =
5outof 8

How the candidate could have improved their answer

» The candidate could have improved the answer by addressing the third point about what they have learnt from that

experience.

» More varied vocabulary, ambitious language and variety of structures by organising the written account in
paragraphs would have helped the candidate to score higher marks in language.
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Examiner comments

0 The candidate gives an
ambiguous narrative of events by
including only one point out of three
mandatory short prompts / bullet
points provided in the question.
The first point about location and
the third point about learning a
lesson from that experience are not
addressed properly as English and
Urdu content is mixed together.
Mark for Content = 1 out of 3

e The candidate does not
respond to a written stimulus by
using appropriate register and style/
format for email. The candidate
uses very little variety of language
structures and vocabulary. The
written account is not clear, and

the use of English words makes it
ambiguous.

Mark for Language = 1 out of 5

Total mark awarded =
2 out of 8
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How the candidate could have improved their answer

The candidate’s written account is ambiguous as only one point was slightly clear. This affected both content and
language marks.

The candidate could have avoided the use of English words and spelling errors by writing the content more clearly
in simple, manageable vocabulary.

The candidate should have made some effort to address the third bullet point about learning from that experience.
Use of paragraphs could have helped move the candidate’s mark to a higher band.

Common mistakes candidates made in Exercise 5

Some candidates did not address all of the specifics or prescribed points.
Most candidates did not write in paragraphs which affected the language marks.
The candidates used very little variety of language structures and vocabulary.

Some candidates lost marks by not writing the content clearly and using English vocabulary which makes the prose
ambiguous and, at times, invalid. Candidates should avoid using English or English transliterated words.

Some candidates did not use appropriate register and style/format for the audience of email, e.g. greeting and
addressing the person.

Candidates are at risk of losing marks by not meeting the full criteria of assessment objectives given in the syllabus
for writing and the criteria of higher bands in mark scheme.
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Exercise 6 Question 22

Example Candidate Response — high Examiner comments
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0 The candidate writes an
extended prose / discussion

essay on ‘too much use of plastic-
facility or misery’ by providing a
strong, fully relevant argument at
appropriate length. Consistent use
of appropriate register and a good
sense of purpose and audience

is kept in mind. The candidate
organises the information and
ideas into coherent paragraphs.

In the first two paragraphs, the
candidate presents the argument
in favour of plastic being a facility.
The ideas are well developed. The
rest of the paragraphs reveal plastic
being a misery by providing the
developed argument about misuse
of plastic and causing pollution. At
the end, the candidate gives their
own opinion and resolve is given
to avoid the problems. The written
prose is placed in the top band of
Level 4, but 7 marks are awarded
instead of 8. The reason for this is
that the candidate does not justify
the overall topic/title statement in
the introduction or in the conclusion
of essay.

Mark for Content = 7 out of 8

e The candidate produces an
excellent piece of written work by
using a range of language, e.g.
idioms/proverbs and complex
grammatical structures. There is a
high level of accuracy and excellent
control throughout.

Mark for Language = 8 out of 8

Total mark awarded =
15 out of 16
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How the candidate could have improved their answer

Although the candidate has written an extended discussion essay by providing an argument for and against the
question, the candidate could have improved the answer and been awarded the full 8 marks by beginning with any
aspect of topic statement (‘foo much use of plastic-facility or misery’) and providing a powerful argument and then
focussing on the development of ideas or details.

The candidate should link back to the essay question by including a final thought or highlighting the significance of
the topic in the conclusion.

The candidate has shown the ability to use a range of grammatical structures and vocabulary accurately and
effectively. The use of complex vocabulary, idioms and a good command of punctuation and spelling has helped
the candidate to achieve full marks for language.
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€D The candidate fulfils the task
which is to write a discussion
essay on ‘too much use of plastic-
facility or misery’ by providing a
relevant argument in a slightly short
written piece. A reasonable use of
appropriate register and a sense
of purpose and audience is kept in
mind. The candidate presents the
argument in favour of plastic being
a facility and a misery by mainly
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written prose is placed in Level 3,
but 5 marks are awarded instead of
6, as the candidate does not fully
develop all their ideas and does
not justify the title statement in the
introduction or in the conclusion

of essay. The candidate does

not present the argument in well-
constructed paragraphs.

Mark for Content = 5 out of 8

e The candidate produces a
slightly short written piece by using
a range of mainly simple structures
with a good degree of control.
Despite some inaccuracies, the
meaning is generally clear.

Mark for Language = 4 out of 8

Total mark awarded =
9 out of 16
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How the candidate could have improved their answer

The candidate could have improved the answer by adding some more points beyond stimulus in detail to extend
the written essay at appropriate length. The candidate should have added more depth to points by developing
these further.

The candidate could have begun with any aspect of the topic statement (‘too much use of plastic-facility or misery’)
in the introductory part of the essay or linking back to the essay question by including a final thought or highlighting
the significance of the topic in the conclusion.

To be awarded marks in a higher band, the candidate could have organised the relevant points in various well-
constructed paragraphs.

Good planning, such as making rough notes of main points on any blank page of the paper, would help to organise
the ideas in various paragraphs.

A wider range of vocabulary, more accurate spellings, consistent use of a range of grammatical structures and
some use of idioms and proverbs would have helped to reach a higher band.

Some revision or checks at the end is recommended to check the spellings and punctuation.
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Examiner comments

0 The candidate shows
reasonable engagement with the
task with some relevant points in a
very short written piece. The written
prose shows some attempt to use
appropriate style and register.

The candidate gives a very direct
answer to the question title in

the beginning and takes a stand
against plastic being a facility by
using the prompts provided in the
stimulus. Some ideas, for example,
misuse of plastic and pollution are
developed. The written prose is
placed in Level 2, but 3 marks are
awarded instead of 4 as not all
ideas are satisfactorily developed
and there is no use of paragraphs.
Mark for Content = 3 out of 8

e The candidate produces a
short piece of written work by
using mainly simple structures
and vocabulary with a reasonable
degree of control. Despite of some
inaccuracies, the meaning is
generally clear.

Mark for Language = 3 out of 8

Total mark awarded =
6 out of 16
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How the candidate could have improved their answer

* The candidate should have added some more points beyond stimulus in detail to extend the written essay.
» The candidate should have added more depth to points by developing these further.

* To be awarded the next higher band, the candidate could have organised the relevant points in more than one
paragraph.
» Time keeping for each exercise should be kept in mind in order to have enough time for Exercise 6.

* Good planning, such as making rough notes of main points on any blank page of the paper, would help to organise
the ideas in various paragraphs.

* Awider range of vocabulary, more accurate spellings, consistent use of a range of grammatical structures would
have helped to reach a higher band.

Common mistakes candidates made in Exercise 6

+ Some candidates relied on given provided stimulus statements / dialogue points about plastic being beneficial to
industry and the cause of pollution for their answer, whereas they were told to add some of their own points.

» The points were given but not always fully developed by adding reasons.
» The written pieces were not organised in well-constructed paragraphs.

* In some cases, it was ignored that essay writing is an extended exercise in which a longer piece of continuous
prose, of approximately 200 words is required. Very short essays cannot be fully credited as they do not fulfil the
requirements of the assessment objectives and the criteria of the marking scheme.

* Repeating the same point may well increase the content, but it is considered invalid.

+ Some candidates did not communicate clearly, accurately and effectively. Some of the writing was not legible
enough to read and understand.

+ Some candidates relied on simple language structures and did not make any attempt at using a range of
grammatical structures and vocabulary. Punctuation and spelling checks were not always evident.

» Afew candidates wrote main specific vocabulary in English which cannot be considered relevant.

+ Sometimes, extremely lengthy essays could affect the language quality marks by risking the chance of extra
spelling errors occurring.
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